1.

Match the following :
List - I List - IT
(Authors) (Books)
1) A L Basham a) India as a
secular state

2) Donald E Smith b) The wonder

that was India

3) Rudolph & Rudolph ¢) Government
and politics of

India
4) WH Morris Jones  d) In pursuit of
Lakshmi
Choose the Correct Codes :
1 2 3 4
A) b a d ¢
B) a ¢ b d
W d b a ¢
D) d ¢ b a

The 15" Finance Commission
recommended a health grant
architecture focusing on

(A) Health cess consolidation into
GST

(B) States’ debt takeover by Centre
(C) Universal health premium

(D) Urban/rural health infrastructure
and primary health care
strengthening

The Chola navy was known for its
expedition against :
(A) Cambodia and Laos
(B) Vietnam
«(C) Indonesia and Sri Lanka
(D) Maldives

CSP-24/1/C

fafse 96] 697 @ :

clRxl-1: 6acia QIRRI-2: 99
1) A L Basham a) India as g
secular state

b) The wonder
that was India

3) Rudolph & Rudolph ¢) Government
and politics of

2) Donald E Smith

India

4) WH Morris Jones  d) In pursuit of
Lakshmi

Q0R 6212 QI8:

1 2 3 4

(A) b a d c

B) a ¢ b d

G d b a ¢

M d ¢ b a

15 oa 28 efige FgRYe Qaeq AIe cog vo
dIgY AQQIR QII%y 9UIRS @R26R :

(A) GST sa qigy 699 9RQ1RQE
(B) segqial aiigiea ag gL
(C) aiserie Qigy §fagq

(D) eqige / girige @8gd e giede
QIYI6AR! gQRIeRE

62Q ARAIR AIQ 6917 671621 QAT YA 9
(A) QeI 8 NIBQ

(B) &veqia

(C) Q6gI6ada 6 FIas

(D) aieg@
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4. The PM Gati Shakti - National Logistics | 4. guienai-e6-43-gie1a addg 1@ (The PM
Policy targets : Gati Shakti - National Logistics Policy)
QY QYE:
(A) Achieving net-zero carbon
emissions in urban transport (A) Q2QIER 989276Q 686, 48 RIGQ
Adoe 21aR Q@
. (B) Integrating road, rail, port, and
airport infrastructure for faster (B) ge aingl adees il Qigl, 6aR, 99
goods movement q&° YAIGeRA Q GRYFAQ IN1QE *AR!

(C) Promoting bullet train corridors (C) 96nG 667 206qQ 69I91Ee 239!
(D) Increasing domestic shipbuilding

industry (D) «asaa eIeie aelg dg QF @aa

-

5. What differentiates India’s Long-Term | 5. @iagq qldeinie Qg aaae aeld ealae (LT-

Low Emission Development Strategy LEDS) NAPCC 0@ &'a @4 ?
(LT-LEDS) from the NAPCC?

(A) 42 6299 99120419 983 QA 964 |
(A) It targets only renewable energy

. (B) w21 63g-00q, 901Q GRIEIIRINESAR
(B) It provides sector-specific deep 6QUGANIT gaIe Q6Q
decarbonization roadmaps

' (C) w2l e 92 F99gEQg earIRalg
(C) It replaces all earlier missions

(D) <2l ef1eadq QIQ @9
(D) It excludes forestry

6. aa¢ (Mustard) eNiQ 6293 -
6. Mustard Gas is :

(A) Uranium hexafluoride (A) Uranium hexafluoride

(B) Dichlorodiphenyltrichloro- (B) Dichlorodiphenyltrichloro-
ethane ethane
(C) 2,2’-dichlorodiethylsulfide (C) 2,2'-dichlorodicthylsulfide

i Isulphoxide
(D) Diethylsulp (D) Diethylsulphoxide

CSP-24/1/C 3 K-75 [P.T.O.




7\ Read the following statements and

/8.
(7

choose the correct alternative in respect
of sett]emcﬁt geography of the world
Statement-1: In humid tropical
regions, rural settlements often take the
form of compact villages.
Statement-2: Isolated farmsteads are
more common in the densely populated
rice-growing regions of Asia.
Statement-3: Physical barriers like
mountains and deserts can lead to
clustered settlements in limited
habitable pockets.
Statement-4: Settlement morphology
is linked to agricultural systems and
land ownership patterns.
(A) Statements 1, 2 and 3 are correct,
and Statement 4 is incorrect.
‘(B) Statements 1, 3 and 4 are correct,
and Statement 2 is incorrect.
(C) Statements 2, 3 and 4 are correct,
and Statement 1 is incorrect.
(D) Statement 3 is correct, and
Statements 1, 2 and 4 are
incorrect.

The basic foundation of global
economic governance in the post -
second World War was laid by various
institutional frameworks. Which of the

following combinations is correct?
.a) IMF, World Bank, GATT
b) IMF, World Bank, Asian
Development Bank
c) World Bank, GATT, BRICS
d) Asian Development Bank, IMF,
IBRD
Options:
.(A) aandb
(B) a,bandc .
(C) a,candd
(D) ab,candd

CSP-24/1/C

faRde Aseigee 993 99" GgQ GA8 AN6Q
q0e 298 QI8

ased - 1 216 gaQIR FEREI gIeNeg 9a® gIass
ge0e 9191 94 eeaad

agey - 2 4d2Ie 99 eaagR IR OIF UEREQ
aoe aIFeqe ARIE Ql6@ R

ado 6 Agaf aF 6sleR goeee

agey - 3 @ 5
o6 98 23169

aifie QIaeaIel a6ae6R K39

qeqy - 4 @aGa 2198 Q@ gaIe! e Qf
qifeiel PIB 920 859

(A) aseyl,20 3 qoe 6 A8<Y 4 g1
(B) ase41,30 4 g0 6 A8 2 9K
(C) a8 2,364 a0 6asey 1 99

(D) a8y 3 a02 G A3 1,264 9%

G0l @gYS a9Qa! AAAER 9 28670

ql1aaq 6d10a QRgF AR AIFORR FIEl Q!

QIae SAULIRAR! | FARYS AgE Qe AUQ

699G OR ?

a) IMF, World Bank, GATT

b) IMF, World Bank, Asian
Development Bank

c) WorldBank, GATT, BRICS

d) Asian Development Bank, IMF,
IBRD

Aeg Qe

(A) axe°b

(B) a,buec

(C) a,cNed

(D) a,b,cved

K-75



With respect to inflation in the Indian

9.

context, consider the following

statements:

1.  Retail inflation, measured by the
Consumer Price Index (CPI), is
the primary metric used by the
Reserve Bank of India (RBI) for
monetary policy formulation.

2. Core inflation includes volatile

*  components like food and fuel
prices, providing a more stable
measure of underlying
inflationary pressures.

3. Supply-side factors, such as
monsoons affecting agricultural
output and global crude oil
prices, play a significant role in
India’s inflation dynamics.

4. Headline inflation refers to the
total inflation in an economy,
including volatile components
such as food and energy prices.

Which of the above statements are

correct?

(A) 1,2 and 3 only

(B) 1,3 and4 only

.(C) 2,3 and4 only
(D) All of the above
10. A Committee was constituted to
formulate fundamental duties after
emergency in 1976. It was headed by
which of the following personalities?

(A) VC Shukla

(B) DK Barooah

. (C) Sardar Swaran Singh

(D) Sanjecva Reddy

CSP-24/1/C

10.

e D e R

NAGIA AREgQ16Q A91%18 andeq

3qagEe doia q BEEL T

1. QaseQ gay geeig (CPD) Q&1 qug
?ngma@l G99 9QI31T 6207 wasig
aae Q4w (RBI) a1 i1 9o aig
Q%0 giafie aae

2. R 99I3106Q QY 19" 929 gay
aga QuIeIe 2849, A2 29520
QY1916 Q1A IR UYR YA JUR 269

3. QF QQIeR 49° 34 F6AINS 639 Rig
daIee @Rl 6dlgal aa saigi4
AIgRIAYGR NAGA PRIFG ATH1R3162

49994 9fie gea @98

4. Qe gRI9Id 4R 2IR06R 671G RIBIEY
QIN, 6A9E6R §IQY 1e° 93 Ry 9
2gQ QQIQIR USYS

QUAAYS 999 FRIQ 62AF OR ?

(A) 1,249 36299

B) 1,399 46a%

(C) 2,394 6%

(D) «aexlg Q94

1976032160 SQRIINIE AJFE A6Q 61A
QEQY FFIQg QA9 QIR 9§ €A% Q0R

QAAIRAN | FARAYS 669 UATEAT AR
6RQQ 6RQ&UER ?

(A) VC Shukla (8. Q. QR
(B) DK Barooah (8. 6@. aQu)
(C) Sardar Swaran Singh (a21Q Q@& @°)

(D) Sanjeeva Reddy (Q°619 668)

K-75 [P.T.O.
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11.

Wave like character of an electron is
proved by:

(A) The ionization of an atom

(B) The flow of electrons in a metal
wire

(©) The deflection of an electron

beam by electrical plates

(D) The diffraction pattern of
electrons scattered from a
crystalline solid

12. Match List-I with List I and choose the
correct answer from the Code given
below :

List-I List - II
(Nationalist Women)  (Their Activities)
a) Sarojini Naidu 1) A leader of the

under  ground
movement
b) Usha Mehta 2) Joined Azad Hind
Fauz
¢) Aruna Asaf Ali 3) Led the Salt
Satyagraha in
Dharsana
d) Dr, Lakshmi 4) Operated Secret
Swaminathan radio during Quit
India movement
Code ;
a b c d
(A)S48e0 . 1 3
. (B) R4 1 o
C) 4WBis2. . 1
D) 3 2 4 ,
CSP-24/1/C

R

A

11. 99 QERGRIRA CaF 9R 9ag gAIeie 24 -

12.

(A) The ionization of an atom

(B) The flow of electrons in a metal
wire

(C) The deflection of an electron
beam by electrical plates

(D) The diffraction pattern of
electrons scattered from a

crystalline solid

IRl - I 6 QIR - II 661Q121 9Q° 6118 LI
2Q 909 Qe Qg |

QPRI - I eIRal - IT
(RIS19RUS1 AZRI) (SIS QAGYISR1)

a) QAT QIRG 1) YOR CRIFRA
600l

b) @8I 601628 2) aiIgIe Q 6TIRER
6QITQIR

C) 2Qdl a1 agy  3) edeieq (Dharsana)
[eE  aAoyIge
60QQ

d) @. a1 QIQlae  4) NAAGKIR alemé@ea
Q9 6988 AdQIRa!

6910

a b ¢ d
A 4 2 1 3
B) 3 4 1 2
© 4 3 2 1

M 3 2 4 1

K-75




3./ The 2025 Cambodia - Thailand border

14.

15.

conflict was primarily triggered by :

(A) Disputes on Oil and gas resources

in the Gulf of Thailand.

Historical disputes over Preah
Vihear Temple and the
surrounding territory.

-(B)

@ Disputes on Mekong River water-
—+ sharing.

(D) Trade War.

The term seamless web with reference
to the interconnectedness of different
parts of Indian Constitution was used
by which of the following authors?

(A)
(B)
©
D)

Granville Austin
K.C. Wheare
Donald Smith
A.V.Dicey

Which of the following combinations
are correct with regarding the social
welfare policies and the year in which
it was introduced.

(a) PMPOSHAN:2021 °

(b) Right to Education : 2009~
(¢) Ayushman Bharat : 2018
(d)
Options :

(A) a,b,c andd
(B) c,a,dandb

PM Awaas Yojana : 2015

b,d,canda

(D) d,c,aandb

13. 2025 RCRUTI-2AIRAUG A1 RQIQ Aoos @

14.

15;

AEQ Qe cLIRAMI |

(A) 2918 QIAIgasa 630 NQ° QYIQ ARG

1213 [N AN

(B)

gai (Preah) deia (Vihear) adq gg°
2ISIAIY 2AER QA6 IR

©)
(D)

EAERIT AR FRALR QUG FQIQ

QléRY ge

QAAG1IY QAR FER 2°9Q QAR A°YRIQ
ARR6a ‘drenq 63Q’ IeT FINYS Q9
EANIRE QIR LI FAULIRARI ?

(A) Granville Austin
(B) K.C.Wheare
(C) Donald Smith
(D) A.V.Dicey

AIFIFR QRUIGRTS 1e° 92 gORR 621929l aF
Q26 FANYE 69 Fige 0K ?

(a) PMPOSHAN:2021
(b)
(¢) Ayushman Bharat : 2018

Right to Education : 2009

(d) PM Awaas Yojana : 2015
QRFYLR :

(A) a,b,c andd

(B) c,a,dandb

(C) b,d,canda

(D) d,c,aandb

K-75 [P.T.O.
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16. With reference to the challenges of
urbanization in India, consider the
following statements:

1.

=4

Rapid urbanization often leads to
strain on existing infrastructure
such as housing, sanitation, water
supply, and transportation.

The growth of informal
settlements (slums) is a common
consequence of unplanned
urbanization due to unaffordable
formal housing.

Urban areas typically experience
higher rates of unemployment
compared to rural areas, leading
to increased pressure on social
services. )

Smart Cities Mission aims to
promote sustainable and
inclusive cities by applying
“smart” solutions and leveraging
technology.

Which of the above statements are
correct?

(A)
(B)
4(®)
(D)

1, 2 and 3 only
1,3 and 4 only
1,2 and 4 only
2, 3 and 4 only

17. Who was the founder of the Lingayat
sect?

(A)
- (B)
©
D)

Appar
Basava
Bijjala
Abhinava

CSP-24/1/C

16. 9IQe6a ALQRRER A AARER FINYL
QAQRQEe Gole @ |

17.

N

g0 d2Q1IRQ4E gl4es 9T, aQae,
QR6AIGIE ¥Q° AR2e AF FiqIe
289f aaea 91a 9 @6 |

2RI AQEIFe qeddie saig
2186I9RISR JRAIRAGR 4@ ARIIQE
QA 6298 26RIaIae 96 (93)R

&

JIAIER GRAIEE AZRNERYER ARIQESS
69QIQ1 QR 2R UFRS QAB, QI
QAIFIBS 6961 QU6 BIF 9F K6Q

QIs 38 dae ‘g’ qaIMIf geald @
e 998 YR RU6QId @Q QI 9Q°

2399 d299%g 69I21Ee !4 QY
QI

QUAAYE PN FRIQ 62AG OR ?

(A)
(B)
(®)

D)

1, 2 9@° 3 6@9@
1, 39e° 4 6ae@
1, 2 9Q° 4 6%

2,3 9e° 4 6Qe¢

RSTAS ARUAR OIS B e6R ?

(A)
(B)
(©)

AAIQ
QQQ

el

(D) 2&qe

K-75



18. Tarkunde Re

19.

20.

. (©)

©
\

Port is relateq :
the fo]lowing? =¢ 10 which of

(A) Electora] Reforms

(B) Centre State Relationg

(C)  Economic Reforms

(D) Educationa] Reforms

The CAMPA funds are prioritized
for activities that involve:

(A) Mining clearance proposals

(B)

Community-managed wind
farms

Compensatory afforestation
and eco-restoration

(D) River-interlinking project

evaluations

The Dyarchical system of government
was introduced by which of the
following measures?

(A) Government of India Act, 1909

Government of India Resolution
1918

(B)

Government of India Act, 1919

(D) Government of India Act, 1935

CSP-24/1/C

18.

19.

20.

SIQQEe QACAIS Fg I QIR AZE KBS ?
(A) @ciee aaia

(B) eeg qigy aae

(C) 2d6d0Q aala

(D) Jsee aaiQ

CAMPA a1§g 692 @Idieeia 9Is gIadqq!
gIe *ALIRE, 69QYCA & FIRYS @8 Aug
R 2299

(A) <& qeaiag ggie
(B) squg1 adeire Qig aid

(C) 2899d97° e91eqd 9e° adcasg—
gRsgIae

(D) eo1-aesaia geg INITe

FONYS 699 AQ6lQ QA YRR AR
Q4egl (The Dyarchical system of Govt)
goae ealaixaml ?

(A) Government of India Act, 1909

(B)

Government of India Resolution
1918

(C) Government of India Act, 1919

(D) Government of India Act, 1935

K-75 [P.T.O.



21. Which of the following is a non- | 21. §9Age Auq 694e Ay 219! (non-
reducing sugar : reducing sugar) Q6%
(A) Glucose (A) Glucose
(B) Maltose (B) Maltose
(C) Sucrose (C) Sucrose
(D) Fructose (D) Fructose
22. Which of the following statements 22. Q¢ ArqPe 698 F946Q FARYe 62ugee
about World Cultural Realms are NOT A89Y OR Q6% ?
correct? -
idental Realm) -
1.  Occidental Realm : Includes ks glfy@q asg (Occl N A)
. Qdiq 96QId, QAQ AICAARI, AEFRAI G
Western Europe, North America, Bauis 2860, glEal-6aIAIn 8
Australia, and New Zealand; shares aﬂ o Q%’ 29@ orgioIa 96 '
Greco--Roman heritage, SRaTe " oF
Christianity and industrial 2. @iaeig 8% (Indic Realm) -
development. QURSER 6986, 29 ud, 698 ud ¥
2. Indic Realm : Centered in India; QARG ArYER AGAGI QR 2QEYIY
shaped by Hinduism, Buddhism 3. @amifie zae (Islamic Realm) -
and related cultural traditions. Qa9 21Gel 9e° o8a g¢ wdag Qe
3.  Islamic Realm : Restricted solely 6QR 6297 AL QAQIA adye QIfe
to the Arabian Peninsula, 4. ele-giaie1 28e (Sino-Japanese
excluding North Africa and Realm) - 919, SIGI9, caiGal <e°
Southeast Asia. ANSRIFQ 66Q 906, SaIdQRQ, 6T
4.  Sino-Japanese Realm : Comprises A4 6 QIBRIQ QI QRITS
China, Japan, Korcz?, al}d Yletl'lam; 5. eo-aleiel 211 ane (Sub-
g’f(li‘éifwed ]c)iy’l‘ SILACIANEED Saharan African Realm) - Qig
B S a0 QUGS GF 9e° ARVQA Q1A QA
5. Sub-Saharan African Realm: NR1QE, 9RR9Y AR 9 YRR
Unified by Bantu linguistic roots QAFE QTe
and indigenous beliefs, with O e o
significant Islamic and Christian AESRIS STy SR
presence. (A) 1063 6aa@
(A) 1and 3 only (B) 2064 6qaq
(B) 2 and 4 only (€) 3 caeq
(C) 3only- (D) 1,365 6qeq
(D) 1,3 and5
CSP-24/1/C 10
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about the CM-Kjs
) - AN sch
Odisha are NOT correct? R

1.

N

4. "
N

¢

“

(&)
®)
©
®)

Livelihood support under the

lscheme 1S provided exclusively to
arge landholding farmers

Input support ig given to farmers
for cultivation. -

Krishi’\’ 1dya Nidhi Yojana under
CM-KISAN aims to promote

agricultural education among
farmers’ children.,

The scheme is designed to be

progressive and inclusive in
nature.

1 only

1 and 2 only
2 and 3 only~
1 and 4 only

ﬁ Arrange the following committees in a

chronological order :

a)
b)
c)
d)

N.N. Vohra Committee
Rajinder Sachar Committee
D.S. Kothari Committee

Raja. J. Chelliah Committee

Choose the correct answer .

(A)
(B)
©)
(D)

a,b,candd
c,d,aand b
b, a,candd
a,c,bandd

- CSP-24/1/C

23. agaia CM-KISAN a@q aneea 60Q &9
Q84 O] §62?

1. 42 691991 2UIREQ 1QQI ARIAC! 6Q9R
Q0 K009 QI91NIRg dIf 2K

2. 918 dIfl QERAIATE ARYE AR08 91T
QAU

3. CM-KISAN auigea @ G4 @Y
6QIeRI 9191w TRIAIRE Fu6Q §E-a3Ig
691920 QA9 9IQ AAY QYR |

4. <2 6QIRRI 99541 G QFFe gl
6291 IR §RIAR QAT

(A) 1 eqee
(B) 162 6ae
(C) 2063 6qer

(D) 164 sqee

24. [INYe *FTYEQ FIRSEN AT cad]
a) N.N. Vohra Committee
b)  Rajinder Sachar Committee

c) D.S. Kothari Committee
d) Raja.J. Chelliah Committee

QA0R Q9Q QS :

(A) a,b,cued
(B) ¢, d,axne b
(C) b,a,cveed
(D) a,¢,bued

11 K-75 [P.T.O.
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25. Which of the followings is not a dye:
(A) Alizarin

(B) Fluorescein
(C) Phenolphthalein
(D) Anthranilic acid

26. Consider the following statements
regarding the Odisha Industrial

Infrastructure Development
Corporation (IDCO) :
1. IDCO was established as a

(o]

statutory corporation by the
Government of Odisha in 1981.

It serves as the nodal agency for
providing industrial
infrastructure and land for
industrial and infrastructure
projects across the state.

The corporation’s objectives
include the development of
industrial estates, IT parks and
other industrial complexes.

IDCQO’s functions do not include
land acquisition or the creation of
a land bank for major and mega
projects.

The corporation facilitates
private-sector participation and
provides project construction
services.

Which of the statements given above
is NOT correct?

(A) 2 only
(B) 4 only

(®)

1 and 3 only

(D) 3 and 5 only

CSP-24/1/C
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25. Bqage fuQ 6a9S @ 8 (Dye) 6% 7

26.

(A)
(B)
(©)
(D)

Alizarin
Fluorescein
Phenolphthalein

Anthranilic acid

654l dg dagfh aee daa (IDCO) ANAER
FIRYE F8QIgee G9Ia @ag. |

1981 qdeleq GG4dl daIae QA
IDCO 4@ Q@R 599 QISR FoFS
62IRAR

<9l QIRIAIQl dg e f9gd geg aid
Jg A9 6 oF QTR IR RPN
169Rd USCQ ALY 22N

RIQ QAERY AUER g Q6XE, 21T
I 9Q° 2ARYIRY dg Q6HRAQ FUS

2899

IDCO @ <idysq ggs 8 6a¢l geg
IR 9f QUIT 9T *E 9e° QF ageE
2399 Q6L

Q9F AR 6AGR NEQUTG AR FQUN
9Q° gag QAld 6981 gRIe @GN

QUERIY ASAY AAUQ 694G O] Qeg?

(A)

(B)
©)

2 6QQQ

4 6QQ@

1 9Q° 3 6qee

(D) 39 5 geen

K-75



27. Consider the followip

28.

IO

£ statements with

regard to the Comptroller Auditor

General.
a) The office of CAG 1
modelled op the basis of
Advocate General under the
Government of India Act, 1919

as been

b) CAG is the impartial head of the

audit and account system of
India.

¢)  CAG can be removed by the

President on the grounds of
proven misbehaviour'.

d) The term of office of CAG shall

be six years from the date on
which he assumes office.
Choose the correct answer :
(A) aandb -~
(B) aandc
(C) bandd

(D) a,b,candd -

Under which Mughal Emperor was t}}c
office of Muhtasib (Ccn.sor of Public
Morals) instituted in Odisha?

(A) Shahjahan
(B) Aurangzeb
(C) Jahangir

(D) Humayun

CSP-24/1/C
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27. GoRe J26AY GeIees Andea FOmeS

28.

A8QIgEe 90IQ @9 |

a) @19 aeeia aiae, 1919 agaial
CAG @ QIYIR9 2IGERERE, 626RANS
ZRIINER FI66R FAILIDT |

CAG 622828 @190 2§60, 1e° IS
Jdgn @ faeaa Qs

b)

c) ‘gride 9eyeeIa’ 2RINEQ QAIGAT
CAG g 292190 2241869

d) CAG a QdiQie 6a QIdiged @asl

QI¢q 829d 629 |
Q0] Q8Q Qg :
(A) awe b
(B) avec
(C) bwed

(D) a,b,cwed

6@ 6AIGR QRIS AAACR 691201T
(Muhtasib) Qidyiea (eriueg 63deq
FARE GA6B) BFA6R gOFe AAUAIRARNI ?

(A) qQRQQ
(B) aeeacee
(C) Qi

(D) gaige

K-75 [P.T.O.



V)

29.

K

Who was the first Leader to Mov; a
resolution in the Central chis]at}ve
Assembly demanding the Unification
of all Odia speaking tracts into a
separate province?

"(A) Madhusudan Das

(B) Gopa bandhu Das

(C) Hare Krushna Mahatab

(D) Nil Kantha Das

Consider the following statements :

1. The Inter-State Council (ISC) was

Set up under Article 263 of the
Constitution.

Punchhi Commission
recommended the establishment
of the Inter-State Council.

The Union Home Minister is the
Chairman of the Inter-State
Council.

()

4. It discusses matters of common

interests and suggests policies for
better coordination.

Choose the correct codes :
(A) l1land4
AB) 1,3and4
(C) 2,3and 1
(D) 1,2and3

Which climate initiative specifically
supports Himalayan  glacial
monitoring?

(A) ICAP

(B) Natjonal Mission on Sustaining
the Himalayan Ecosystem

State REDD+ Programme

Bharat Clean Energy Mission

(©)
(D)

CSP-24/1/C
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29.

30.

31.

ang 652l SISIRITT 288 9 9o gep,
qGae QGeIaIR 69918 RUIRARIER o %0
Pige @GSl gana 6861 @4 9

(A) fyqee ad
(B) 691028 Q19
(C) 26098 AR
(D) f19Q4 Q9
FARYe I9RQER T0IQ @9 :

1.  ass-aiey adae (ISC) afuieg vy
263 2gaIa1 goge 621

2. B efae 2I8Iey adae gdgl g
gaIad *Qgea

3. 688 qe]1 2IB-QU A3aeq g
263

4. w2 Qe QI aasig SIAYER QAR

IBAFR REQ IS VA AARA QIS 918
AQUAE T

Q0R 621 QUG :
(A) 144
(B) 1,34e 4
C) 2,3w9e"1
D) 1,2we 3

69 YRQIQ A%eng WURA TAQIR ARINEQ
JcaaNee AR Qeq ?

(A) 1CAP

B) g SRR-iegIg i el ai 101
fag
(©)

(D)

| REDD quqq lfalTalg

RNNAG d8 \§]§ fag

K-75



32. Which of the foljoy

about the globa] indu
NOT correct?

VA" - TN

ing statements
strial pattern is

—

a7

=

ot
:

(A)
(B)
©)

«(D)

Japan, Gcrmany,

and the
leaders in he USA are

automobile production,

India ¢ ¢
and Bangladesh are major

centres for textile and garment
industries, -

South Korea and Taiwan are

Known for shipbuilding and
heavy machinery.

Ca.nadz% and Australia are
primarily known for heavy

industry rather than resource-
based industries. i

2 and 3 only
1 and 2 only
3 and 1 only
4 only

33. Which of the following was the first
major administrative measure taken by
the Congress Ministry formed in
Odisha under Hare Krushna Mahatab

on 23 April 1946?

v

(A)

(B)
(®)

(D)

Abolition of Zamindari

Settlements

Release of political prisoners
Repeal of galt laws in Coastal
Odisha

Introduction of Compulsory

primary education

- CSP-24/1/C
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32. @q dg QB ANR6A 69 A1894gEe 0R Q6% ?

33.

(A)

(B)

©)

®)

QAR SFIRT 4Q° 2160AR ACSICAIRIARN
QQIeaea agan

QUGS B QFRICRd 994G G 6QITIR FFAIR
gqs 629

@f@ 6QIGaI 6 OIRQIR QIRIQ BFIA 4Q°
QIQ1 ARAIT QIR REIGEI

QRIS B 26gR GSiies ANP-88Q ag
2160491 QU1 &g AIQ Q1G4

2 63 6a9ee
162 62a@
361 6%

4 6QQ@

1946 adel 23 9gR6a 262]Y ALSIeR
62QQ6Q BF4IEa 906 @°6gQ QA FARYE

FRIQ 699 FEAER QAN QY QAITR AR6NQ
QIR ?

(A)
(B)

(©)

D)

SO YRQ! A6RRD

QFEHCR ARG 93

GPAIQ QUQR UBQ Al QAQR GRAIQ
Q8 YRR GNIRR

QRIGIANS IR 481 9eae

K-75 [P.T.O.



\3_4\. Which of the following best defines the

(

~

concept of Pareto Optimality?

(A) A situation where everyone is

equally well - off

A situation where no one can be
made better off without making
someone else worse off

(B)

(C) A situation where total wealth is

maximized

(D) A situation
government
resources equally

where  the
redistributes

Consider the following statements :

a) Under Artical 124(4) of the
Indian Constitution, a Supreme

Court Judge can be impeached.

b) The ground for impeachment of
a Judge pertains to 'incapacity

and proven misbehavior'.

A minimum of 100 MPs are
required to initiate the
impeachment motion in the Lok
Sabha.

The President can pardon the
Judge.

d)
Which of the following statements are
IN CORRECT?

(A) aandb

(B) conly

(C) candd

(D) a,candd

CSp-24/1/C
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34. §qage AUQ 699G

35.

a166g1 (Paret
Optimality) 2daIAG @ dIQdIQ A6diqq

QIe6a JARITe Q6] ?

(A) <@ 0GF% 699016 AA6g AR AIq
Age

.

(B) <@ a8g6 6990168 AMRI2AQ ¢aig
0 08 A2 699 9N Q99IG6Q Q%

(C) <@ adge 6adolea 6AIe Adl QTR
24

o~

(D) <98 Qdge 69e0I6Q AR ARV
QAIR NIFER YAReR QAT

2ORYe A8NYER I9IQ QA :
a) @eeIa aQUe dial 124(4) agaial,

@68 9JeeRIc F0IRaty ARIfeaId
QAULIRAAIRL

b) @64 GoIRATS AIR6QAIT AR ARIR

‘AVAG! Y&° GAIGS FUA ARG’ LR
K60

C) 6RIIAVEA ALINCAIG IR 2IRQ QAR

QIQ 9939 100 Qraes 2IeaHQs! 28 |
d) Qgat J9IRATE [l *AAIRE
FANYE ABNYRR FRIQ 6Q9F QR ?
(A) age b
(B) eqeq ¢

(C) cueed

(D) a,cwed

K-75
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7%, QiSRG Va\

INg statements 36.

gia1 818 agy (SDGs) 4° 6QAIREQ
QeRqee ARFER FINYS SQRYER F0IQ Qal

’Il;he 2030 Agenda for Sustainable
eyelopment, adopted by all
United Nationg Member StatesTn

2015, Comprises 17 SDGs and

SDQ 1 targets poverty ending in
flll ‘1ts forms €verywhere, using
indicators like the proportion of
people living below the national

The “leave no one behind”
principle is central to the SDGs,
emphasizing disaggregated data
collection to identify vulnerable

1.

169 targets.
2.

poverty line.
3.

groups.
4,

Sustainable Consumption and
Production (SCP) is primarily
addressed under SDG 14,
focusing on efficient resource use
and reducing waste.

qia1 @xie it 2030 9egel, @@l 2015
adeleq Aag fRe «16Q°a Ay
QSRR g8 QaIAIRARI, 6326 175
Qi1 3916 agy (SDGs) we° 169% aay
Q&g |

gig1 8219 @Ay (SDG 1) «ie1g @1agy
QIFICALITER QAARYEUR! CRIRE 2N
dQ 9eeqeq egIa @@ 490 aag
geiaa ey AaIgy a4 QYE

“QIQIq J86Q 21569 A% /1T QIY1 GRI4
234 (SDGs) QIR 69915 9% 69IF1gee
026 QA9 AR A8 2y AgR QAR
AN R=EIN

g1 Q192 1e~ qien (SCP) qeyes
SDG 14 2u1e6a a6aINe, o8 a9
QLA IQ° 2VFLLIA QAECR AU 9 |

Which of the above statements are

correct?

A 1,2 and 3 only
(B) 1,3 and 4 only
(C) 2,3 and4 only

(D) All of the above

- CSp-24/1/C

i

il

QUANYS SYARIQ 6946 OR ¢
(A) 1,299 3 6aeq
B) 1,399 4 cqaq
©) 2,349 4 cqep

(D) <asaig aag

K-75 [P.T.O.



IQIQES 64 2IRE
37. Section 4 of the RTI Act states that the 37. RTI2igRa 9l 4 6Q 2 2 l3/ata

, e £2qIa - G AUER 6QR¢ AYSI 1Q° gor
bligations of public authorities to = it ol
Omailﬁfain recgrds and publish geld a9l AaRIal @gad Q

information within _____ days from
the enactment of the Act. (A) 120
(A) 120 B) 30
(B) 30

(© 110
(©) 110

(D) 10
(D) 10

38. Consider the following statements | 38. @Iiaesa AR (Ramsar) gie daasa
/  about the Ramsar sites in India: TIRYES AQYeR 91 QQ |

1. A Ramsar site is declared based 1.

on its ecological importance and
biodiversity richness.

N AR IR IQ AQAELETS QS

NG 659 GG ARG 2RI 98 6QITEl
RAUAIRE

2. Chilika Lake was the first Indian 2.

FRRILL QINQIR SIfQIsq Q°6Q19
site to be added to the Ramsar list.

FRUARUS AR gaIa g@ agl
P

. u’) As of 2023, India has more than

g 3. 2023 aruieq aiaesa 75Q 2R aQIQ
75 Ramsar sites. A9 033 |

Which of the statements given above M e

) QUEQ IAIRTQ) 0

is/are correct? | Q9YER AUQ A0 Qea gaie

.(A) 1and?2onl
(A) y (A) 6290 1 9g° 2
(B) 2 and 3 only

(B) 6qeq 2 wq° 3
(C) 1 and 3 only

(C) 69er 1 vee 3
, (D) L2and3

D) 6aee 1,2 we- 3

CSP-24/1/C 18
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o

©

(D)

2)

3)

4)

(0} tI‘ S

To compe) 4

Public off;e:
perform g pub Official to

lic duty

To question ]

¢ legalit
person holding Sy of a

The development of the
Samudrayaan Mission wil]
enhance India's Capability in
Nuclear Submarine Development

Samudrayaan Mission aims to
develop a self-propelled manned
Submersible.

Samudrayaan Mission aims to
explore deep oceans up to 6000
meters.

Samudrayaan Mission aims to
boost marine tourism.

Select the correct answer from the
codes given below ;

(A)

1 only

(B) 2and3

(C) 1 and 4 only

(D) 4 only

CSP-24/1/C

19

39.

40.

a9199Q IS A1V FAAIN

(A)

(B)

©)

(D)

R68 Q139 6T 2699 99 a9

R @9 2ANNGQ @ Qe AQNSY 9@
AR FINISA 259!

B641 AORNAN 2YRQIATG IR ASRND QY
dIRe QAP Q14 RGQ

B6El AR AR UIQG VPR G
6RICIAT6Q Gg Q0IRQ

aqeiae dee Saaca Sgfge 18YER SoIq

2Q:

1)

2)

3)

4)

dqLlae deeq di19 Qial aQqaig
WINNLAR IRIF6Q UK TG R ae

499198 F989 Qay e A9°0I1R¢
AINISIRG QRIRIRIS Fadg QQQ!

4908 999 aay 6000 dog adye
ANQ AL 2QANIe GAQ

99190 F9ea gy AIgde adienq oF
@aQl

faRge 6189529 O] 20 996 eq |

(A) 6eeq 1

B) 2ve°3

©)

1 9Q° 4 6o

(D) 4 eqee

K-75 [P.T.O.



41.

Which of the following statemfil}ts
regarding India’s aquaculture policies
is/are correct?

1. The Pradhan Mantri Matsya
Sampada Yojana (PMMSY) aims
to enhance fish production and
boost exports.

2. The Coastal Agquaculture
Authority regulates aquaculture

activities in brackish water and
coastal areas.

(93]

The  National  Fisheries
Development Board (NFDB) 1s
responsible for promoting
modern aquaculture practices.

4. The FAO’s Code of Conduct for
Responsible Fisheries is legally
binding in India.

(A) 1,2,and 3 only
(B) 1 and 4 only
(C) 2 and 4 only

(D) 1,3, and 4 only

What is the time limit provided for
making a complaint under the
Prevention of Sexual Harassment of
Women at Workplace Act, 2013
(POSH)?

(A) 14 days
(B) One month
(C) Two months

(D) Three months

CSP-24/1/C

20

41, wese 8998

42.

o153 QATEa BARYS G954

aaq 666 OR 7

| guieaslAdaAd sa1eel (PMMSYy
qig @QIes 98 98° QgI? 98 @80l oy
Q48

7. Qdge FRQd drRIFA Q8 A8 o
QaRRae! JBRED e2q8 eidienn;

Goaé @69

3. eien agiGeid 6916 (NFDB) i
Qnqd aquag 69191%0 Qa9 91 @i

4. <dgqd aayaies aid FAO o zicas
Q°EQl RIAGEQ AIRFALY KITES
QRISIARS

(A) 1,263 6390

(B) 164 seeq

(©) 264 ¢eee

D) 1,3, 4 ceeq

(=] =
F18Rg6R ARRIAIee edle Bdyeal A9IRE

aaw 2013(POSH) aigaion a@sais 66
QS AR Qe 6607

(A) oqe (A1)
(B) NQ QIQ

©) q¢a AQ

(D) @@ aAUQ

K-‘-75
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43. Consider the following statements

43. Qiaeq gIfla geie @g4a6a FORGe RPYLE
about endemic species in India:

oI @ag |

/1«. Endemic Species are restricted to 1. <o 5Gg caledine gIe AU6a ginTd
a specific geographical location. geIfgee aidie 62Ia aala |

2. The Nilgiri Tahr; i ]

b g r'1s endemic to the o 5 alale)
Western Ghats. 2. @196@ o (Tahr) a§a Qic 2ge 2

3. Endemic species always fall 3. QIQ9 geggee géol IE]CN 9eea
under the IUCN Critically Qe UGG QUI6Q AQACES 6LINEANT |

Endangered category.

i QU6AIY 699 RPYeF@ 0K Gl 6 ?
Which of the statements given above

is/are correct?
(A) 6aen 19e°2
AA) 1and?2 only

(B) 699 29e° 3
(B) 2 and 3 only

(C) eqep 14993
(©) 1 and 3 only

(D) eaen 1,29e°3
(D) 1,2and3

44. The Union Public Service Commission | 44. iae1a afuies 6ed aigeq
(UPSC) is mentioned in which part of eAae (UPSC) asqa 28 ¢
the Indian Constitution?

259R a{] adiq

(A) wua VII
(A) Part VII
(B) e XIII
(B) Part XIII
©) «eXIV
£C) Part XIV
D) «aIX
(D) PartIX
CSP.24/1/C 21 K-75 [P.T.O.
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46.

. (A)

Consider the following statements
about delimitation and its implications
in India:

1. Delimitation is the process of
redrawing boundaries of Lok
Sabha and state assembly
constituencies to represent
changes in population. ~

2. The Delimitation Commission 18
appointed by the President of
India and its orders have the force
of law and cannot be challenged

——

in any court.

3. The primary objective of
delimitation is to ensure that all
constituencies have roughly
equal populations, thereby
upholding the principle of "one
person, one vote.'V

4. The current delimitation exercise
is based on thé 20@ Census, with
the next one mandated after the
first census following 2%

Which of the above statements are
correct?

1, 2 and 3 only
1, 3 and 4 only
2, 3 and 4 only
All of the above

/B
©
®)

Which British Governor - General of
India formally annexed Odisha into the
British empire? 2 6}
(A) Warren Hastings"

(B) Lord Cornwallis

(C) Lord Wellesley_/

(D) Lord Dalhousie

CSP-24/1/C
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45. qmn aal

- (A)

46.

QUAGER LR GRS Qg
@ GoIa @A |

Qd 99°

el G194 6298 ITIMIER Adagy,
goaug @as! Qe 6RISARI Q" g,
sulqaal G608 AGRIA AIAI garid

caela 989

1.

5 qifIBsIad QAR AN AIFAGS qq
fqe 988 e° 12IQ 26ad 2aRg o
qee e ¥elg 6a16d 6R160 SYisag

QQIQIRAIRe QIE

3 giql GaIeaQ 9Iafe Q8@EY 6208 a0y
adion AaR1a gIa QIR IR Gge
Qaql, QIel QIal, “6algNa QP, 6915\
caIe’’ 919q QLI Q69 |

4. edaieq aiql 86194 ggal 2001

Qeedql QU6 ZIMIAE 9e° Jaeas
2026 g6 gaq QA& dEa
QRISIIRR :

QUAAYE IQY ARG e@aﬁ oR ?
1,2 9e° 3 6eq

(B)
©

1, 39e° 4 coep

2,3 49" 4 cqea

(D) easaig ang

g@ﬂ'% e Qgiey ae cad 366 aadd
WERAIR 2199100 QIse a°gg eainast 7

(A) aqicaq 628a (Warren Hastings)
(B) @6 ededa (Lord Cornwallis)
(© a9 sanad (Lord Wellesley)

(D) | 2C conIIRg (Lord Dalhousie)

K-75



47. Which one among the fo]
not match properly the

/&*ﬂ e C%

lowing does
Noble Prize

category with its 2024 laureate?

(A)
(B)
©

(D)

Peace - Narges Mohammadi

Literature - Han K:mg /
Economicg - D

Simon
Robinson

aron Acemoglu,

Johnson &  James

Physics - John Hopfield &
Geoffrey Hinton

48. Who made history as the first Black
man to win the Oscar for Best Costume
Design at the 97" edition of the
Academy Awards?

(A)
(B)
©
(D)

Paul Tazewell
Olivier Persin
Emilia Pérez

Sean Baker«

49. Arrange the following texts 1n their
chronological order of composition :

a)
b)
c)
d)
(A)
(B)
(©)
(D)

Brihalaranyaka upanishad
Manusmriti

Arthashastra

Milinda Panha
a-b-c-d

b-c-a-d

c-a-b-d

a-c-b-d

__CSP-24/1/C

&

23

47. agage aug 6aas 2024 36
Qaala @d Q2¢ 0] IQEa 6a% s |l

48.

49.

[150 e v som =

(alnl[=g Q@@ GQIGG’Q
2

(A) QI8 - FIQEAQ 6AILAL1

(B)
©

(D)

ARGY - R\ X,

2R - GI6QIR ¥a6AIGR, AR FRAR]
qQ° 657 QFRAR.

aqigeRnie - e 2q FaG 9e° @66
244,

NRIEGAT 9aRIQa 97 6F I°AREER TN
QISR BRIRR QIR 3UQ B! gAF QBRAAMI
QIR ¥4 ALY RTYER ?

(A) aR cIER6ER

(B) caeg caqd

(C) @R sasag

(D) Q4] seea

AR QORI 2QAIER B geqee geial |

. a)

b)
c)
d)
(A)
(B)
(©)

D)

.

QRAIAENR QAFQ
996

28419

Aaeag
a-b-c-d
b-c-a-d
C-a-b-d

a-c-b-d

K-75 [P.T.O.
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50. Consider the following statements

about India’s Nationally Determined

Contributions (NDCs):

1) India has committed to reduce the
emissions intensity of its GDP by
45% by 2030 from 2005 levels.

2) India aims to achieve about 50%
cumulative electric power
installed capacity from non-fossil
fuel sources by 2030.

3) India’s updated NDC is linked to
the Panchamrit announcement
made at COP26.

Which of the statements given above

1s/are correct?

(A) 1and?2only

(B) 2 and 3 only

(C) 1 and 3 only

(D) ,2and3

Who has been appointed as India's new
Deputy National security Adviser as of
August 20257

(A) Rajinder Khanna -
(B) T. V. Ravichandran
(C) Anish Dayal Singh
(D) Pankaj Kumar Singh

52. Match the following :

Day United Nations Events
a) 3 March 1) World Wildlife Day
~b) 7 April  2) World Health Day
c) 3May 3) World Press Freedom
day
~«d) 20 June 4) World Refugee day
Select the correct answer from the
codes given below :
(A) a-1b-2c-3d4
(B) a-2b-3c-4d-1
(C) a-1b-3c-4d-2
(D) a-3b-2c-1d-4

CSP-24/1/C

50. @G

51.

S2.

Q10148 56160 29019 (NDCS)
cgoca APAds A8gEe 919 Qag |

1) ®ee 2005 @ 2030 g81 w21g Gpp
o aeae 61961g 45% 219 9dq) g
q@ 964eas 62108 |

2) @lQ¢ 2030 ¢8I 6-F19IY Qve ag
gia 50% Q-eA1R TGS 49 9150 s0q
21dR @Gl 9I8 AYY A4S |

aiaea aaiee NDC, COP26 ¢

3) -
calpaql ‘aglfe’ 6aITEl ALe aqg |
Qa6cale Q8qee AU a0Q Q@ 64 |

(A) 6aeq 1492

(B)
©
(D)

caan 2 9e° 3
caae 19e° 3

gean 1,29e° 3

2ag 2025 98I QIQEA Qe QU-RIG14 4aal
JAIFEIQIG! AT RALIG FYY FAUKIQE ?

(A)
(B)
©)
(D)

QAFLA ¢RI
0.8, QGeLR
ARG Qoin 3o
9eR QAIQ °@

PARNYS AL0 6617 QQ -

geg 2189°aQ ILYQe
a) 3qie 1) g eaygian Geq
b) 79ga  2) Q9 QIgy 99
c) 3eq 3) 39 6gQ QrIGE! 3eQ
d) 20gR  4) 3¢ gaqs deg

FORYS 6912 qFeq O] aaa QI :
(A) a-1 b-2 ¢-3 d-4
(B) a2 b-3 ¢4 d-1
©) a-1 b-3 c4g d-2
D) a-3 b2 c-1 d-4

K-75
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[

_ a) Permanent

¢) Imposition of

d) Slavery Abolition

J
¢) SimonC ~ommission 5.1

53.

b) Bntish

What was the official theme of the ?8"‘
Nations xl Games?

(A) Fit India

(B) Sustainable Olympics
(©)
(D) Eco-Sports Initiative

Green Games

Match List -
from Code :

I with List - 11 and sclect

List -1 List - I1
(Colonial (Impact on
Policics/events) Odisha)

1. Aggravated

economic distress of
Odisha peasants

Settlement (1793)

2. Led to the inclusion

Reorganization of Odia speaking

after Maratha tracts under different

defeat presidencies

3. Caused resentment
and fueled Odia
linguistic identity
movement

4. Enacted by Lord

Bengali

Ellenborough in
Odisha

etitioned by
Krushna Chandra
Gajapati for separate

(1843)

province
Code :
Ak a-l, b-2, -3, d-4, e-5
‘. ’ -‘-‘.
(By a-2, b:1, €3 d-4, e-5
(C) a-4, b5, ¢ y, d-3, €2
D) a-5, b3 ¢4 d2.c 1)
CSP-24/1/C

3

N

54.

3869 91016 1918 AGRIA1 @AY @' gm ?
&q edzl

QI Bafeq

gIa 6904

(A)
(B)
(©)
(D) @6a1-1g 9e6ad

aa-1 6 ga-11, a*6ee BP9 677 @3 |

gg-] ‘ag—”

(R0%6ade @16/ (0541 9959

6Q18EN) gei?)
a) 9191 Q62199 1. 654919 QEAIeT
(1793) 2IERTL QL4

b) AIQIOI QIS Q6Q 2. IUR G419

2896a GG
QUIRNGIS QTGS

554 AIREQ gedoe

2Qs818  Q§
SIYSR 1S GRl
QUS| AIERINY
£QINITC eSS

c) QFIR! gRIQ 3.

d) QIQq JsuQ 4. GRNI8R 6
VENRWRAT QR
Qae

e) AR/AR *AAR 5

Qo] geee AR
QYL Qvadw
QIR 2IeQas

Q603 1
(A)
(B)
()
(D)

a-1, b-2, ¢-3, d-4, e-5
a-2, b-1, ¢-3, d-4, e-5
y C-1, d-3, e-2

a-5, b-3, ¢-d, d-2, e-1

a-, b-S

K-75 [P.T.O.



55.

Match List - I (Indian Rivers) with List-II

(Their Tributaries) and select the
correct answer using the code given

below the lists

List-I List-1I
(Indian Rivers)| (Tributaries)
(a) Chambal . 1. Bhima
(b) Cauvery 2. Noyyal
(¢) Krishna - 3. Banas
\(d) Godavari 4. Manjra
Codes :
| @] ® @] @
w2 |1 ]3 |4
B)l]3 |2 {1 |4
Ol4 {3 |2 1
(D)| 3 4 | 2 1

5§6. Match List - I (Rivers of Odisha) with
List - IT (Their Tributaries) and select

the correct answer using the code given

below the lists

List-I List-II
(Rivers of Odisha) (Tributaries)
(2) Mahanadi (| 1. Sankha
(b) Brahmani - 7| 2. Raru
(c) Baitarani + -|.3. Ong
(d) Subarnarekha | 4. Deo
Codes :

(a)| (b)| (c)| (d)

(A)] 2 13 |4
@[3 .12 |1 4
|3 1 14 |2
@[3 [4]2 |1
CSP-24/1/C

26

55.

56.

cidal-1 (ee19 891 Indian Rjy,,

qae e@al-1I (629EQ9 @aRa1 - Ty
Tributaries) 6ARIG 6FR S192B o7 ¢,
e <18g |
— Tast-1 List-I]
(S19019 791) (Qacaer)
s T
(b) <Ieaql 2. erlaIQ
c) &9 3. Q8q
FGQIQIQW 4. ag |
Q698 :
@) )] ©] (@)
@l 21]3 |4
B)| 3| 2 1 4
©)| 4 | 3 2 1
D)| 3 4 2 1
i@l - I (aie ae1) age eRel - I

(699991 QARR) 6ARIG I° QIS N

@Q a0Q 28 QIgg

QA - 1

(GFa1a 291)

i@l - 11
(6BaIR QA8
— |

(a)

AL

1. - a8t |

(b) <qigan

QU

(©)

XA

1(d)  gedeasn

D
3. ad
4 6Q0

6RIQ :

[——

(b)

@

(d)

N

®)[3

NS (=] W

[A[._'!N -
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E
|
57. Who were the first g ; . .
fiIndia? 18U gold cojpg S7. @ueesa geaee 992l cedaiee goeq
*Qg6R
(A) Kushang asa 2
A 1
(B) Sakas (B; %
. aQ
©) Parthiang EC) .
Qigaig
(D) Indo Greekg )
R6AI-GI]
The Depar . .
58. Em szrm D al Justice and 38. aiqge A9 Ne° A9TQad Faug (DoSJE)
i ii U SI; ( OSJE) fecently signeq AAGR 419, 601e7 FAA6R 99AC000G! @
© ““_1 Which Organisation tq P09 A1 QB 609 a°900 gBg 4R QIIAGIag
.enh:.mce public aWarenesg about socig] Q[ 258 9
Justice schemeg?

(A) Ministry of Defence

(A) gdeal AR4I00
(B) Nationa]

Human Rights B) sig AIRRRAR Sfge (NHRC)
Commissjop (NHR()
(C) National Legal Services Authority © ?&iﬁs ::)1@@(51@ "99 diieas
. (NALSA) :

(D) Central Vigilance Commission (D) ¢egia asdel afige

39. Match the initiative with its year of | 59, 219 2Ianed Q26 gaiag cae ag .
launch: ' SRR . g
Scheme Year a)  2QYYIKR ARG 1) 2006
a)  Ayushman Bharat 1) 2006 b) National Ski]] 2) 2018
b) NatiOnal Skill 2) 2018 Development

Development Mission

Mission 35 2015 ¢) MGNREGS 3) 2015

GNREGS d) - QuIeast geug

::i)) II:/Iradhan Mantri Jan 4) 2014 : ‘jﬁlml& 2

Dhan Yojana 086 :
Options: (A) 22,13, ¢-1, g4
(A) a-2,b-3,c-1, d-4 (B) a-4,b-1, c-2, 4.3
(B) a-4, b-1,c-2, d-3 © 23,12, ¢4, 4.1
(C) a-3,b-2,c4, d'; D) a-1, b4, ¢-3, d-2

-3, d-
(D) a-1, b-4, c-3,
27 K-75 [P.T.O.
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60. Match the following Rajput rulers with
their notable battles or events :

a) Rana Sanga 1) Battle of

Haldighati

b) Maharana Pratap 2) Battle of

Khanwa

¢) Rao Chandra Sen  3) Stru ggle

against Akbar

d)  Raja Man Singh 4) Conquest of

Odisha

{A) a-2,b-1, ¢-3, d-4

(B) a-1,b-3,¢-2, d-4

(©) a-3,b-2,c4, d-1

(D) a-4,b-2, c-1, d-3

61. Consider the following statements
regarding the structural transformation
of the Indian economy:

1. India’s economic growth since
the 1990s has been primarily led
by the services sector, with a
relatively smaller contribution
from manufacturing.

2.  The “Make in India” initiative

" aims to increase  the
manufacturing sector’s share in
GDP-to 25% and create 100
million additional jobs by 2022.

3. Despite rapid econofn’fc/growth

~  the share of the agricultural
sector in India’s GDP has
consiétently declined, while its
share in employment remains
significant. -

4, The phenomenon of “premature
deindustrialization” in India
refers to the services sector
growing rapidly without a strong
manufacturing base.

Which of the above statements are

correct?

(A) 1,2and 3 only

«(B) 1,3 and 4 only

(C) 2,3 and 4 only

(D) All of the above

CSP-24/1/C
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60. f QIEYe AIARAIRE AR 6AAIFT ()

61.

aeql 6aR1 |

a) Qa1 agt 1) e@a1Qi5 g

b) aLIQIQI goId 2) ¢IRGI ga

c) QI6RY 648 3) 2IRea Bgq
Qgin

d) QIe AI9d°L 4) 6§41 Qag

(A) a-2, b-1, ¢-3, d-4

(B) a-1,b-3, c-2, d-4

(C) a-3,b-2,c-4,d-1

(D) a-4,b-2,c-1, d-3

Qa0 28018Q AFOR? addr arcc:
RFaRge 39RQgEe Jo1Ia @ |

1.

1990 @aeq I aas@e@ 28%

69926Q QIR 698 AR c;:c o
QAUWBA 9

‘6AQ AR REAI' JEIIR AFY 622
2022 g=1 GDP 62 QQIee 6989 2°45
25% @ 9F «@Q<Ql we° 100 8ge 283
098 98 @a<l

g6 21ge 2RE asq feeq GDP s
236898 a°9 §a8Q 21Q AIeST,
64666968 FYICR 12N 2°@ YIRS
QLR |

VAGEQ “ARIR FQEUAI |QQ
(deindustrialization)” acal see8
6AQIERLY R 9 QYRR AR I
96956 QF QIRaRIg QuN |

QURYE 604 QQIQEQ o ?

(A)
(B)
(©)
(D)

1, 2 9@ 3 gaqe
1,3 we° 4 geqp
2,399 4 soqq

QA6 ang

K-75



62.

63.

64.

=

Which one of the following Article of
Indian constitution provides that the
law declared by the Supreme Court
shall be binding on all courts within the
territory of India?

(A) Article 131
(B) Article 141
(C) Article 144
(D) Article 145

Which of the following statements
about G-20 is NOT correct?

(A)
(B)-

The G20 was established in 1999.

USA hosted the first G20 Summit
of leaders in 2008.

(C) The presidency of the G20 rotates
/ every year among member
countries.

Chile i1s a member of G20.

The foundational ideology of the
Hindustan Socialist Republican
Association was inspired by :

(A)

Italian nationalist movement and
the works of Mazzini

(B) Leninist Communism and the
g Russian Revolution

©)

American War of Independence
and George Washington

Irish freedom struggle and Sinn
Fein Movement

D)

CSP-24/1/C
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62.

63.

64.

AORYS 699 AAGTA ARUNA UIRAER GRIAIRT
69 9gr6RIc QIAl 6AITS ARG WA 639
AUE6R AAg ARG IR ARIBIRR 629 ?

(A) Article 131
(B) Article 141
(C) Article 144

D) Article 145

G-20 3896Q FIAYE 689e95 OR Q6% ?

(A) G20 1999 6a 9286 62IRaAMI

(B) 2008 sa aicqadal gaa G20 eqel
QAR 2IECARE Q&AM

(C) G20 @ aIg8q 95ed A9y 6Q4gee
AEQ geia §9

(D) a@ G20 @ aeay

QIS AAIFSIGT AFAURY AR G 1P IS
QA AQYEYIAC 6LIRaAR ?

(A) Q9INQ FIBIAGINIFT 2ERINS @ A@
QIdyiIem

(B)

EARARIA AR B QE TQQ

(C) a60aR1Q QRISE 2°gIa 6 ! QIT°eR

(D) z1g9mu8 Qe QgIn 8 deeae

2IeRINR

K-75 [P.T.O.



65. Which of the following fundamer}tal
rights is available only to Indian
citizens and not to foreigners?

(A)
(B)

-

©

D)

Right to Equality before Law
(Article 14)

Freedom of Speech
Expression (Article 19)

Protection
conviction
(Article 20)

Right to Life and Personal Liberty
(Article 21)

and

respect of
offences

in
for

66. Match List - I (Geological Structure)
with List - II (Economic Importance)
and select the correct answer using the
code given below the lists

List-I List-1I

(Geological (Economic

Structure) Importance)
(a) Siwalik Hills | 1. Coal, Mica, and

Uranium

Resources
(b) Deccan Traps |2. Black cotton
s oils |,
-1 Sugarcane
agriculture
(c) Singhbhum 3, Fossil-rich
Craton Sedimentary
deposit
(d) Chhota Nagpur 4. Rich in Iron
Plateau ore deposits
Codes :
(a)| (b)] (c)]| (d)
A)l2 |1 |3 |4
B)|3 |2 |1 |4 L
O3 12 |4 |1
D)3 |4 |2 |1
CSP-24/1/C
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65.

66.

aaRge AU caa 661aR AR 6QQ7 o1

QAR

(A)

(B)
©)

(D)

QIR

e aiQ Qaag 49° QNS Alg Q6% 1

sae dRHEQ AAIRSIQ 2yg g
uial 14)

QIQ e 2QGQ QrRIeS! (Uil 19)

saal Qie 69191 ARG 6291 Angeq
geal (uial 20)

gl1eq 1Q° QYFAC JRIKSIA Ayqig
(aial 21)

-1 (esai@e Q@ - Geological

Structure) @26 eiaeI-II (21818 griie
- Economic Importance) 6a91g 4e° 6213
ML *Q A0S Qe 8] |

A[=(=1E | elaal-II

(6s0691RR QQ) (21EIR1TR gRIGY)

(a) Siwalik Hills

Resources

. Coal, Mica, and
Uranium

(b) Deccan Traps

S5O lgbl 8
Sugarcang|
aonculture

(¢) Singhbhum

. Fossil- rlch

Craton Sedimentary|
U g e deposit
(d) Chhota Nagpuy 4. Rich in Iron

Plateay ore deposits
Qe ;
N Tea
@ O oT@
B3 T
C [
i\)3\2\ 4 |1
D)3 |34

L L3 2

K-75
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67.

68.

As per the Global Hunger Index 2023,
India ranks at which position globally?

(A) 105
(B) 107
© 111

(D) 115

Consider the following statements
regarding ecological pyramids:

I.  In a parasitic food chain, the
pyramid of numbers is always
upright, g

2.  Pyramids of biomass are always
inverted in marine ecosystems.

3. Pyramids of energy are never
inverted.

Which of the statements given above
is/are correct?

(A) 1 only
(B) 2and 3 only
(C) 1 and 3 only

(D) 1,2and 3

CSP-24/1/C
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67.

68.

Qg QI geris 2023 2gQi191, RIS FFLASA
609QIG6Q 28 ?

(A) 105
(B) 107
(C) 111

(D) 115

aqeeade dalfie andeq FORAYe A89eQ
30Ia @9 |

. 99 9eeie (I §eRlIeQ, A°aHIQ dQFe
QAeQ! QuIARY QBeINg

2. QiQee ada-gisa sFeaia dalfie adal
B@GI QLA

3. 98a Saifc 6q6e @ BRI 99 aiF

Q96 2dIRINAS QIYFR AIQ cada QoK ?

(A) eeee 1

(B) 6aen 29s° 3

(C) 6890 1 9g° 3

D) 6qea 1,29 3

K-75 [P.T.O.



69.

70.

s
(B)

Consider the following statements
about the Attorney General of India:

1. He is appointed by the President
and holds office during the
pleasure of the President.

2. He has the right to participate in

proceedings of Parliament but
without voting rights. __~

3. He must have qualifications
equivalent to that of a Supreme
Court judge. —~

4.  His remuneration is fixed by the
Parliament through a law under
Article 148 of the constitution

7

Options: P

(A) 1,2 and 3 only

1 and 2 only

1, 2 and 4 only

2, 3 and 4 only

©)
D)

Which of the following statements
about the Chenab Rail Bridge is
correct?

1) Itis a Cable-stayed bridge.

2) The Chenab Rail Bridge is taller
~ than the Eiffel Tower.

It is a part of the Golden
Quadrilateral Railway Project.

3)

4) It is the world's highest Railway

arch bridge.

Select the correct answer from the
codes given below :

(A) land3
(B) 3 only
(C) 1 only

(D) 2and4

CSP-24/1/C
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70.

69. aaea 216§ 6RCARINT FVAER Gogg,

qqaqee 991Q @4 -

1. oI5 Qgaee Qe 899 *alang qoe
QIgade ¢@ AAGER 64 ALQI6Q a3

7. QIeQ 2299 Qe erageq -
NQIA 2T @G 6NC 6991 AYRIQ oF

3. elea qdAeRIS 99I1998% ageq
caIqNel Q@9 QR

4. eleq a@gie 4°9e QA ARG g
148 agQial 9@ AR A1-AC] g
QLIRS

degqee:

(A) 1,2 <&° 6299 3
(B) 1@ 2 6aae
(©) 1,2 9e°46aee
(D) 2,3 94 6qe

6ORIQ 6QREAQ TUACA FIAYS 699 8947
o] ?

1) 921 9@ 6a9R-69Q (stayed) 62§

2) 6019 69R6QQ ZIRCTR FIGIR0I] 8
3) <21 qd 0gee cangage e 24
4) 21 3gQ Ao can 60108 697

TARYS 611 RRq O] aaa coe ¢4 |

(A) 1we 3
(B) sagq 3
(€) saqq 1

(D) 2vg-4

K-75



71.

72

73,

Which of the following pairs is
correctly  matched  regarding
Schedules of the Indian Constitution?

(A) 6™ Schedule - Languages
recognized by the Constitution
_(B) 7™ Schedule - Division of powers
between Union and States
(C) 8" Schedule - Land Reforms and
Ceiling on Landholdings
(D) 9™ Schedule - Tribal Areas of
Assam, Meghalaya, Tripura,
Mizoram
Which category under the IUCN

classification is not directly
recognized in the Indian Wildlife
(Protection) Act, 19727

(A) Critically Endangered

(B) Vulnerable

(C) Endemic

(D) Extinct in the Wild

Acetylsalicylic acid is known as:
(A)y Oil of wintergreen

(B) Aspirin

(&)

Ibuprofen

(D) Paracetamol

CSp-24/1/C
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71,

72.

VQO1A QANINR o1 AFQIA! FINYS AUg
609 6917 O] QIR 699 FIAT ?

(A) 69 29991 - AAAIR QR Q1S9 UG

(B) aqga 2g991 - 699 <49° QISY AU
00! SRSP

(C) aan agget - §F 9*aIa 97 §F JYLI]
QJ6Q Q19

(D) o9 aggel - a21QIA, 6AaIea, §99,
621917 2ITAT VER

IUCN GRi91ee8q 99293 692 IRI9g
RAQGIA Y gIa1 (geal) aiIxe, 1972 sa
QAR QIQE gRIF QQAUAIRT |

(A) Q62 wesa Jaegy

(B) €@ (Vulnerable)

(©) g (Endemic)

(D) sawea JQg

Acetylsalicylic acid egaf -
(A) 2ve g glaqie

(B) 2addq

(C)  ReRIeyIeae

(D) adenm

K-75 [P.T.O.



74.

75.

Match List - I with List - I and select from
Code :

List - I List - II

(Name) (Activities)

1) Leader of
" Khurda
Rebellion

a) Madhusudan Das

) Founder  of
Utkal Sammilani

b) BuxiJagabandha

c) Fakir Mohan 3) Pioneer of

— Modern Odia
literature

Senapati

d) KrushnaChandra 4) Played Key role
" Sin Odisha's

separate
province
formation

Gajapati

Code :
a-1, b-2, c-3, d-4
a-2, b-1, c-3, d4

(A)
(B)
©)
D)

a-4, b-2, c-1, d-3
a-1, b-3, c-4, d-2

What does NISAR stand for?

(A) NASA-ISRO Space
Aeronautics Research

and

(B) NASA-ISRO Synthetic Aperture
Radar

(C) National Indian Space and
Aeronautics Radar

(D) NASA International Satellite for
Advanced Research

CSP-24/1/C
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74, Q6ae YIAER

75.

ga-I a@e ga-1l 6aq g |

ga-1 aa - 11
(9191) (@idieqia)
696!
b) @G Q998 2) 2@% Afee1q
geqiol
c) aela 6AIL9 3) 2RIGR 6
64QI0G qIEeYR gal

4) 6G4I 903 gses
Q0L ek
g

d) Qgeg 9edd

fORge 6910Q QQQ QIS :
(A) a-1,b-2,c-3,d-4
(B) a-2,b-1,c-3, d-4
©

(D)

a-4, b-2, c-1, d-3

a-1, b-3, c-4, d-2

NISAR c4 gaiq ¢

(A) NASA-ISRO qaiqig e 630169

S®Ie Gseaql
(B)
(©)

NASA-ISRO Gsatq 21606 ¢4

01 ARGIR AIRIRIE we° cAREe aHF
QALY

(D)  esea csead aid aial aesicid 898"

K-75



76. Consider the contributions and

challenges of t :
India: he Services Sector in

1. The Sen’ices sector is the largest
contributor to India’s GDP al{d
has been the primary driver of
economic growth in recent
decades. -

2. Despite its large share in GDP, the
services sector’s share in total
employment is significantly
lower than that of agriculture."

3. The growth in services has often
been termed “jobless growth” in
the formal sector, leading to arise
in informal service sector’s

employment.

4. Digitalization and the fise of the
IT/ITeS sector have further
solidified India’s position as a
global service hub, but the
benefits are not uniformly
distributed across the workforce.

Which of the above gtatements are

correct?
(A) 1,2 and 3only

, (B) 1,3and 4 only ~
(C) 2,3 and 4 only

(D) All of the above

CSP-24/1/C
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76. Q10069 6ARICHER SRR 99 QUIERTYLR

QIR @ :

1. eaeicag @aea GDP &9 QA9Qee,
JeaIaaIal e° AR F9R6A 219Q
2G6qfa gledie Qe 62198 |

2. GDP 6aN2ia @F 2°6 961 6¢1IS FLDERQ
6aQI6Eaa 29 g8 QRaIeR geag @al

3. 6QeleAgea ANQEY gIacs 219]91eQ
cageq ‘@9 9 2AGQ8” 6QIA
gaIaIRaNg, digl 2I6RlaoIAe 6491 698
2gg6a 9f acixand |

4. Gacmieeaaq ue° IT/ITeS 6389 QF
9@ G46QQl 6a8 NI VIAGA ge
2198 999 Va8, Ag AINYEe Iial
ARER TAIRNIFER 9L FAUAIRRIE |

QUAAHS SRR 699E OR ?
(A) 1,249 3 6aQ@
(B) 1, 349e 4 6qeq
(C) 2,3 4e° 4 6Q97

(D) @aeig afg

K-75 [P.T.O.



77.

78.

(D)

Consider the following statements
marked as Assertion (A) and Reason
(R), and select the correct option using
the codes given below:

Assertion (A): In central and southern
Odisha, the Proterozoic era is
represented by the Eastern Ghats
Granulite Belt, which consists of
khondalite, charnockite, migmatite,
anorthosite and alkaline rocks.
Reason (R): These rock formations are
linked to the mineralisation of bauxite,
manganese, graphite, and gemstones.
(A) Both A and R are true, and R
correctly explains A

Both A and R are true, but R does
not correctly explain A.

(C) A s true, but R is false.

(D) A s false, but R is true.

(B)

Match List - I with List - II and Select
the correct answer while using the Code
given below :
List -1
(Leader)
a) M. C. Raja

List - II
(Organisation)
1) All India
Depressed
Classess League
2) All India
Depressed Classes
Congress
¢) B.R. Ambedkar 3) All India
Depressed Classes
Association
d) Mahatma Gandhi 4) All India Harijan
Sangh

b) Jagjivan Ram

Code :

(A)

(B)
©)

A= W W
O S SR
— NN RO
WA D=

CSP-24/1/C
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77.  Assertion (A) @ Reason (R) 3¢ 3

78.

|G

AR
34 2R @G NQ° ERIQ MQRIQ aF ¢
Qe Qag |

A A~
UG

Assertion (A) a3 8 @F4& 6Fgc.
6gI696a16018@ Y9 9FAIS YIFAIRT caq -
goaNg @dand, 12 6HISIAIAS, Siedieig:
GaaIeIag, 2I6FI6dIAIRL 99° AIR1A F9l g
Q0@ |

Reason (R) 42 &R1Q 90R 91408, Alw@e,
gITIag 8 R02AQ ¢ieaqd 426 654 |

(A) @a@ A 6 Ragy4e° R 0% auess A

Q QUIStY R6Q

oaa A 86 R aey, a1g R a0 @uesa A
Q QU Q6 |IZ

(B)

©)
(D)

A aey, @g R dami

A dayl, @g R asy

618 QLR gIR SRR - I 8 qIdel - II
ARIa A0Q 299 Qg |

QIR - I oiRel - 11

(6a61) (Qw0R)

a) 99 4. QIgl 1) age UQe1d QF9
Q4 Qg

b) RAR1ee QIf 2) AR RS Q8¢
Q4 K699

¢) J.210.216R00Q  3) Age QIRGIQ A6
Q4 Q'@

d) aQqQuat 4) AYR NRGIQ Q&Y
QQ

6QIG :

a b ¢ (

(A) 3:2un4i q

(B) 3749 igs 4

€)1,.3..2{:4

D 4 2 1 3
K-75
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80.

79. The Ganjam Plates of Madhav Raja II

of the Shailodbhava dynasty provide
valuable information about which
aspect of early Medieval Odisha's
history?

(A) The generalogy and territorical
extent of the Shailodbhava rulers.

(B) The maritime trade networks of
the Shailodbhavas with South
east Asia =

The construction of
Mukteshvara . temple
Bhubaneswar - ’

the
at

©)

(D) The diplomatic relations between

the Shailodbhavas and the Gupta
Empire

Which of the following statements
about the Asia Cup cricket tournament

is I\E):I‘correct.
The Asia Cup is a cricket

1)
tournament played among the
Asian group of nations.

2) The Asia Cup is organised by the
Asian Cricket Council.

3)  The Asia Cup was first held in the
year 1984.

4) The first Asia Cup cricket

tournament was played in
Colombo, Sri Lanka.

Select the correct answer from the

. codes given below :
(A) 1and2

(B) 2and3
(C) 3and]l
(D) 4 only

CSP-24/1/C
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79.

80.

cA6RIae QIR°FQ GO19 ARIQ AURIT GBI
TR 9ee gIR-AUYIIY 634l A92AR 68Q
5 BEa6R ARISIR 4ef! 999 QAT ?

(A) cF6RI0QAIARAIATA @°aIaR1 4" =
Q°gald

ofig 9F <dal 986 €F6RINIAINTT
Qigae QIéiay a4l

(B)

Qe6Rqasa 16344 aeq Qeld

©

(D) 636R18Q 99”9 QIgIRY F1IEQ QTR

aae gIae

<@el @q §6w6 gdiene FARYS 629 A9
0 6% :

1) @2 @4 6208 914 Q6] AI6Q
CURITIRAR! IR §6@C gEISAY -

2) <@ eq wdae §6@¢ AIVQ QIal
2162186 g9 |

3) <@ eq gaaae 9 1984 adeisa
AQFe caIRAMI |

4) gae 932 99 3696 Q4IEAY FIAKIQ

AMERUER CHRIANIRYRI
QARNYE 6Q1Q 9999 O] QAR 92 Qa:
(A) 1@ 2
B) 2 *G‘Q" 3
(C) 3wl

(D) eeqe 4

K-75 [P.T.O.



81.

\ List-1
|
|

Match List - 1 (Sub divisions of

Himalayas) with List

- II (Characteristics)

and select the correct answer using the
code given below the lists

(sub divisions

of Himalayas)

List-11

(characteristics)

{
\(a) Trans-Himalaya

1. Known for hill

stations like
iShimla,
Mussoorie

(b) Greater
Himalaya

P
\

(
\.

2. Composed of

unconsolidated
sediments
forming foothills

(c) Lesser Himalaya

\
'

3.1/11 cludes
/Karakoram,
/Ladakh, Zaskar
range

/
(d) Siwaliks /4. Contain Mount
/ Everest and
Kanchenjunga
Codes :
(a)| (b)] (c)| (d)
(A)| 1 4 2 |3
B)|3 | 2 ] 4
13 1214 [N 5
4(MD)| 3 | 4 1 2
.
-
CSP-24/1/C

38

cigel-1 (AR @a@ais-Sub divisions
of Himalayas) Q2¢ cimel-II (Scaag -
Characteristics) 6ARIG 99 619 Qyagg

@4 a0e Qaa 2g, |

oima-1
(sub divisions

of Himalayas)

QIRQI-II

(characteristics)

(a) Trans-Himalaya

[

. Known for hill

stations like
Sthimla,
Mussoorie

(b) Greater
Himalaya

Composed of

unconsolidated
sediments
forming foothills

() Lesser Himalaya

.Includes

Karakoram,
Ladakh, Zaskar
range

(d) Siwaliks

4. Contain Mount
Everest and
Kanchenjunga
Codes :
’\j i ARy
@)] (b) ©)[ @]
(A)| 1 4 2 3
®)| 3 | 2 R
| Ly - \
— " 4
©13 |24 ,
.\\\
D
Q&LJ\_ 2
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82. Which of the following statements is/

are correct about the Rajya Sabha? 82. QISITel BE96a ANRNNS R A9a OR ?

1. 42149 @91 Q°gl 9e° 92 TR

1. It is a
pPeérmanent bod
y and PR
aee /e

cannot be dissolved.,

2. One-third of its members retire 2. DG NP TSR S a6 gaeees
every two years. B
]. . Q
3. TheV {Ce President of India is the 3. QUeoR QUAUFIY QAN AR
ex-officio Chairperson of the g

Rajya Sabha.
4. QeoIa S QMR QRGPS AARER

4. It can be dissolved by the qgaee Qo qgig AFTALRARS
President during National
Emergency.
A deaqee
Options :

(A) 14e° 2 6qew
(A) 1 and 2 only
(B) 1,24e 3 6@eR

(B) 1,2 and 3 only
(C) 299 4629w
(C) 2 and 4 onlys

D) 1,2,3and4 D) 1,2,39e4

83. Who fought the Battle of Talikota? 83. GIRERIGI Y8 @Y RGP ?

(A) Harihara I (A) <2Qea gad

{ (B) Devaraya Il (B) &aqqia Qo1a,

(C) Krishna Deva Raya (C) Qe QI

(D) Rama Raya (D) Qi QI

[
by,



84.

)
0

86.

The National Disaster Management
Authority (NDMA) functions under :
(A) Ministry of Environment, Forest
and Climate Change

(B) Ministry of Home Affairs

(C) Cabinet Secretariat

(P) Prime Minister's Office (PMO)

India’s first OECM (Other Effective
area-based Conservation Measure)
recognition was awarded for which
reason?

Ex-situ conservation of orchids

(A)
(B)

Sacred groves with endemic
fauna

©

Biodiversity management in
community forests
(D) Coral reef mapping

Who commissioned the construction of
the rock-cut Jain Monastries on

Udayagiri Hills?
(A) Ashoka

(B) Chandra Gupta Maurya

(C) Kharavela

(D) Bindusara

CSP-24/1/C
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84. qioi aadia adeirsl gueas (NDM4)

85.

86.

Gaade 2UIRER QIFY Q6Q :

(A) @a@eed, ogR 99° RQIY ddeqq
AREIRH

(B) qg A6

(C) IRERS, APRURS

(D) gQuIeag!e qidyea (PMO)

aleeq gag OECM (a4 geuediel 6ag
21180 QP& A1) AINNGI, 62 QY JAR

eaUAIRAMI |
(A) 2@eq 9eF6 °Qad

(B) qi91a g4l 9@ 9g Q4ee

(C) 69Iq1 STREQ 67 FQUS! ARSIRA

(D) geie qig (reef) quide

0eada adeeq 689A0 Fdia Qifiq v
6826R ?

(A) asaq
(B) ©8qg sy
€C) siqsqq

(D) Igaiq

K-75



87.

88.

Which of the following statements
about Tropical Evergreen Forests in
India are NOT correct?

—

1. They are confined only to the
Eastern Ghats of India

2. The trees shed their leaves

simultaneously during the dry
summer season.

3. They are found in regions
receiving rainfall above 200 cm.

4. Ebony, mahogany, and rosewood
are common Species.

(A) 3 and 4 only
,(B) 1and?2 only
(C) 2and 3 only

(D) 1 and 4 only

What is the Surya Heliophysics
Foundation Model?

(A) A planetary rover

(B) An Al model to forecast solar
activity

(C) An Earth observation satellite

(D) A spacecraft

CSP-24/1/C

g

41

87. Q[YAYS ALNYRR AU VR0 FYe AARIY

88.

(Tropical) 59998 SR AAFER 62AYFR
09 q6% |

1. 4gE% 6997 QSR LaIcea QAIFe
2. 49 19 9g6R A8geR @RS G @2s

3. qgGe 200 6a.8.q 2ye 98l 62928
2ERER 6K

4. wee@ (Ebony), aeziaie (Mahogany)
4@ 6a12@@ (Rosewood) QrIIQE gele

(A) 364 ¢caee
B) 1626
(C) 263 6qeR

(D) 1646

gdy 62RCTRF TIRELAR, F169R ¥4l ?
(A) 9@ ge1a 6N

(B)

64Q QIGISRITR GIIGAIR RAIAIR IR
Al qeem

4@ Qa1 adyeens Qage

©)

(D) <@ AR

K-75 [P.T.O.
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89.

Arrange the religious institutions
established by Raja Ram Mohan Roy
in chronological order :

a)  Unitarian Committee
b) Vedanta College

¢) Atmiya Sabha

d) Brahmo Samaj

(A) d,a,b,c

(B) c,a,b,d

(C) b,d,c,a

(D) a,¢,b,d

Consider the following statements
concerning India’s Multidimensional
Poverty Index (MPI):

1. India’s MPI uses health,

- education and standard of living
as dimensions, aligning with the
global MPI methodology.

2. The MPI is published by NITI
Aayog using data primarily from
the National Family Health
Survey (NFHS).

3. The Global MPI is released
annually by the United Nations
Development Programme
(UNDP) and the Oxford Poverty
and  Human Development
Initiative (OPHI).

4. India’s MPI includes indicators
such as nutrition, school
attendance and access to clean
cooking fuel, among others.

Which of the above statements are

correct?

(A) 1and?2only

(B) 1,2 and 4 only ,

(C) 2 and 3 only

(D) All of the above

CSP-24/1/C

89. QI

90.

| qiAeaIgs /IaE QR OGSy,

a@qmq@‘@ QIRea 294I6Q 4RI |

a) qﬁc@amgﬁ@
b) 69QI8 QR6na
c) . iea asl
d) QIR anle
(A) d,a,b,¢
(B) ¢ 2 b,d
(© bdca
(D) a,c,b,d

QIaea @gaddgia QIAgY geeis (MPI)
aaR6q BRge GQRYeR GoIa @1 |

1. «uaee MPIQIgy, 491 98° 21991949
AIRQ R dAAID KR YIVIQ 96T,
Q12 §ggaia MPI 996 9%e Qaga
Q6

2. MPI g&e8 Q1919 9QIQ QIgy <Q6s
(NFHS) @ @&y Q@yeele @@ NITI
216219 QIR gRIFS g4

3. 99gqia MPI géed §ae @0 aei
QIYQA (UNDP) qe° 21g6aie Q1agy
NQ° QIRQ QQI8 aQega (OPHI) Qi
geIsie 99 |

4. Qeea MPI 6q QRQAQ, IR QAQR &
U8 SR QAR geRsl o GoR 2GS |

QUARYE Qgey RIQ 6996 O] ?
(A) 1w9g°2 (Y=l

B) 1,24 4 ¢aaa

©) 249 3 gaeq

D) easaig ang

K-75
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- 91. The "One Health" approach in public

92.

f

- (A)

policy refers to :
(A) Integrating traditional and

modern health systems

Linking human, animal and
environmental health to prevent
pandemics

(B)

(C) Making public and private

hospitals work jointly

(D)

Telemedicine expansion to rural
areas

Which of the following statements
about the Odisha Integrated Irrigation
Project for Climate Resilient
Agriculture (OIIPCRA) is ﬁQT

correct?

1. OIIPCRA is jointly funded by the
Government of Odisha and the

World Bank.

The project aims to improve
irrigation infrastructure and
promote climate-resilient
farming practices in selected

districts.

3. It primarily focuses on large-
scale dam construction to

increase irrigation potential in

coastal Odisha.

The project su
training, capqcit
the introduction 0
agricultural techno

pports farmer
y building and
{ climate-smart
logies.~"

1 only
2 only
3 only «

(B)
(©

(D) 4 only

C8P-24/1/C
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91.

92.

aidecte e1a6a “aee Qigy (One Health)”
AR QUNd :
gIanae 1e° ARYER QIgY QI IRy
(=laL]

(A)

(B) @il 62124 gig AIee, 9g e
qG6eaae 9Igig 9°6a1a @AQ!
aaeiql ¥e° 6918 249INLY ase

(©) i
QIe6a QIdY 239!

(D) gIfIERER coRenNGanR gdIad

aealg gosail 98 aid 654l ANRe 9R6I0R
geg (OIIPCRA) @aa6Q FOAYE 699 A3

0@ 6% |

1. (OIIPCRA) Qi 6§4l 2RI G
eI §iFe QIesa QI 6QINIRES |

2. R gege gy e6deq QRgAg a’e
" Q8% B8 AGRIRIG FRIYFR] SRIY
gosaril @8 asdq 69I9Ige @QQl |

3. N2l G QAR BHIIER SR6ARR SN
Q% QAQI AR FRURER A FAIg AR
dQ] 6eRaIg

\"?{9"7‘? QIV1 GIARI, FAGI AR G YUY
Qe QY gYITYI QEREQ QAR R |
(A) 1 eqeq
(B) 2 eaqa
(C) 3 eaaa

(D) 4 eaaa

K-75 [P.T.O.



93.

94.

Who is the author of the book
"Baidehisha Bilasa"?

(A) Har Charan Deva
(B) Sisu Sankar Das
(C) Upendra Bhanja

(D) Harihar Kabi

Which of the following statements
about Biosphere Reserves in India are
NOT correct?

1. Great Nicobar is one of the
designated biosphere
reserves.

2. Nilgiri Biosphere Reserve is
spread over Karnataka,
Kerala, and Tamil Nadu.

3. There are no biosphere
reserves in the Himalayan
region.

4. Sundarbans Biosphere
Reserve is a UNESCO World
Heritage Site.

(A) 3 only

(B) 1 and 3 only

(C)y 1,2and4 only

(D) 3 and 4 only

CSP-24/1/C
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93. @ “cd6aald GRIA” 999 9shal 7

94.

(A) 20 094 699

(B) ag 4% Q9

(C) @698 98

(D) 2820 @9

Q100 6B9FEe A°QFE AAL6EQ 694 5o
Q6@ 0Q g6% |

1. 6ge 762190 62@8 Fda cFonss
VG F11IQ 64T

2. QIR0Q 68A8e A8 QIFR, 5939
Q° QIFRRIgER SgIRe

3. Q92 28RER 69163 6397199 Q°R84
QI

4.  9RQeR 68eaag QA QYE CRAT QR

(UNESCO) a 3 d9gy g0

(A) 3 eqeq

(B) 163 sqqq

() 1,264 ¢aq0

(D) 364 ¢qae

K-75
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95.

The Mission Karmayogi launched by
the Government of India is aimed at:

(A) Skill development for
unemployed youth

(B) Capacity building and
competency development of civil
servants

(C) Leadership training  for
Panchayati Raj officials

(D) Military training for disaster

response

In India, the ‘Threatened Species
Recovery Programme’ under NBAP
targets species that are:

(A) Locally extinct but globally

common -

(B)

Keystone species across agro-
ecological zones

(C) Species with narrow geographic
* range and declining population
Genetically engineered but
endangered

(D)

Which Mughal Emperor appo.inlcd the
first separate Subahdar of Odisha, and
in which year did Odisha became a

separate Subah?

. (A) Akbar, 1593

(B) Aurangzeb, 1658
(C) Shahjahan, 1628
(D) Jahangir, 1607

E8P.24/1/C
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95,

96.

97.

Qe 9e9Ias QIal 2Iea AIaIRYSl A99
Q621G AAY 62QT :
(A) 699Ia 9a@ Ge6IT aIg 286! T2I8

gesial edeiale GaAs! Adie G QaC!
Q14

(B)

(C) aBIatqR AU aIg 699] SIAA

(D) Gadya gogal aid AIFae eIme

aiee6q, NBAP zuigsa ‘@aegg 491
geQala QIdign’ 692 geeqeq 9eal *dal
IR AAY QYN QIgl

(A) Q919 QIR QY Ag IYFRER ARIAE

(B) <98-aGsedc eaggeesa Keystone
aeIe

(C) «re1g 6Rl6qIRIe 9QQaa 9e° 2IQ
dINYR! SFA°HYI Y] gRIT

(D) 66a5QIR RBRAC Gg faegy

6Q9 6AITM QIS 6FAIR gar geq gseaIa
W9 FGYEA 99° 699 9 Q| qeee
QRAAIRAR! 7

(A) aeeR, 1593

(B) eqaqeas, 1658

(C) IR, 1628

(D) g, 1607
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98. M:}tCh these summits to their host
cities:
(List-D (List = 1D
Organizations Locations
a) G7(202% 1) Kananaskis
b) NATO (2025) 2) The Hague
¢) SCO (2024) 3) Islamabad
d) G20 Summit (2025) 4) Johannesburg
Select the correct answer from the codes
given below :
((A) a-1b-2c-3d4 -
(B) a-2b-3c¢-4d-1
(C) a-1b-3c4d-2
(D) a-3b-2c-1d4

99. The E1 Nino phenomenon is associated
with :

_(A) Weakening of monsoon in India
(B) Strengthening of monsoon in
India
(C) No effect on the monsoon in
India

(D) Only winter rains in India

100. Which country did India defeat in both
men's and women's Kho Kho World
Cup 2025 finals?
(A) Bangladesh
(B) Sri Lanka
(C) Nepal
(D) Pakistan

CSP-24/1/C
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98.

99.

100.

2 890 QRRAIGEY 6AAINTR ASAIGe ¢ o
Q26 698 Q9
(ci@al - I) (e@er - 11
ARe AIEAITL Qog
a) G7(2025) 1) Kananaskis
b) NATO (2025) 2) The Hague
c) SCO (2024) 3) Islamabad
d) G20 Summit (2025) 4) Johannesburg
A06a GuIAIRYR 6118 O] 289 <ue:

(A) a-1b-2c-3d4

(B) a-2 b-3c-4d-1

(C) a-1b-3c4d-2

(D) a-3b-2c-1d-4

R §6R1 ACEI 60V TG ?
(A)
(B)
(®)

RASEQ 6AIGAIR QERE! ATE 870
NAGER 6QgA AJAIR 2N

RIALA 6€YA1 QAR 6R1AT QRIS 692
Qg

(D)

ERAR RUAGER AIGIQ2 Q1 QR 8vY

2025 QQ8 we* aRel eaicy Qgeq TIRAIASE
QARG 6aQ R AQIg *]gR1 9

(A) Qrqigeg (Bangladesh)
B) ge (Sri Lanka)
©) eraip (Nepal)

D) adge (Pakistan)
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